6 ,.'.o e ) By
M" ' ﬁ !ll sS40 ¢ deicmals ¢ o) BY) ae Slleall (s

L — Al RS
(5+58)><3= 5(22+1)=
) 4 ) 6
(1-6)+2= (4+l)x_:
2 2
1 531 27
) + —) = - — )= —
3(3,5 3) (10 5)
1 1
3(__5)_ 5(3_2)—
2 3 1
Az +2)= 2+ = 1=
(G+3 @+3)%5

www.snowmath.com


https://www.snowmath.com

VEBED

‘)}NS A ¢ deicmals ¢ u.u\)ﬁ‘\)!\ & Q\:\Lud\ i

ol

(o20]
p—

(5+5,8) x

W
[E—
-

(1-6+2=(-3)

23

1
335+ 2)="=
(37373

3z 9= (1)

1 71
52)2+— = —
( 6) 6

1 9
4+ —) x Z
(4t 3)%5 =5

1
2

531

27 53
SRR T

10

3
5__
(5

R
~

I
N N

1 119
2+ -)x51=—
@*+3) 10

www.snowmath.com

Al

e DH



https://www.snowmath.com

